Unit 14

1 Rewrite the two sentences as one sentence using the words given in brackets.

1 They want to attract foreign investment. They need to employ an export manager.(in order to)

2 'The survey was useful. The survey was conducted over two years.(which)

3 We interviewed ten people. We found the right person.(after)

4 They’ll agree. We only sell to them.(as long as)

5 He says language training is important. He’s cut the budget for classes.(despite)

6 We're losing staff. We’re asking them to work longer hours for less money.(and as a result)

7  You’ve done so well. We want to give you a bonus.(since)

2 Translate.

Existuje mnoho poradct a organizaci, jejichz sluzby mohou firmy vyuzit ke skoleni zaméstnancu.
Ackoli skolici odbornici obvykle ovladaji vyucované dovednosti na vysoké urovni, ¢asto maji omezené
znalosti tykajici se konkrétni firmy, jejich vyrobkt a sluzeb, které poskytuje. Vyuzivani externich
odborniku je navic nakladné. Organizovani internich skoleni naopak firmadm umoznuje mit pod
kontrolou rozpocet na vzdélavani a také skolit vice lidi. Nevyhodou takového typu vzdélavani vsak je,
ze zaméstnanci postradaji zkuSenost s vyukou dospélych.




